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In the circuit shown in figure, the ammeter shows 5 A current, voltmeter shows 250 V and
the internal resistance of the voltmeter is 2500 Q, then the value of R js -

DHoS® DY Soohost @3}3&5 5A (D), 5‘%» &G 250 Vo S DBy o,
S0 Dows W8y ©odkd)6°G0 2500 Q wownd, R Ddend
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(1 150 Q (2) 051 Q
(3) 510 Q (4). 351 Q
112. A battery of emf ‘E’ and internal resistance ‘r’ is connected to a resistor of resistance L

and Q Joules of heat is produced in a certain time ‘t’, When the same battery is connected
to another resistor of resistance ‘'r,’, the same quantity of heat is produced in the same time
‘t’. Then, the value of ‘r’ js :

Ddgiryof woo E, ©08038°¢0 ‘I’ Ko a¥ wrghB, r’ &S0 Ko A& g8
EO2ID®E, VgE swo ‘& Q T 900 @838 wonod. v wrgwdd ‘r,
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113. In a thermocouple, cold junction is at 0°C, hot junction is at 1°C. The graph drawn between
thermo-emf (E) and temperature of the hot junction (t) is represented by the equation,
E = at + bt>. If a = ~224b, the neutral and the inversion temperatures of the thermocouple
respectively, in degree celsius are :

a8 &‘@.oﬁwﬁ&od's B vod eidds 0°C 38 %08 aidd °C. o ddogoryol
oo (E), 38 908 &FAS (Vo &g ADS |mRse v¥Smo, E=at + b*s®
drdoddd). a = -224b eond, ¢ GPSRMY 6P, ISTHS P (HSeo

S&dm, 3(H "‘063053506‘ :
(1) 224, 445 @ 112, 224

(3) 448, 224 (4) 224,112

114.1f B is the magnetic Induction, at the centre of a circular coil of radius ‘r’ carrying a
current is | T, then its value at a distance of /3 on the axis from the centre of the coil
is 2
r agrdo do Jyersed BY g orgor IBgS (ST e, @D Fo
Dod) HE ABHBS wohIpod F(& (W8 B Jeod 1T, wond 84 S
w50 Tolo 0D fIr &r8os® B dewd :

1y &1 2) T
@ 3 @) 16

I
3) 8T (4) Z,T

115. A series LCR circuit is connected to a source of alternating emf 50 V and if the potential
differences across inductor and capacitor are 90 V and 60 V respectively, the potential
difference across resistor is :

2§ LCR (3 Seo0ird) 50 Vo Is70d8 Dogoryof wo 2IsTI8 FOLITE.
L“fodgéa), Br2oeb lo Hogg HEIm 90V, 60 Vo 53‘332&)0536_ Sa® 60b. ek
V&G0 Edo By sod ITYcHS @

a©,
(1) 400 V (W

(3) 80V (4) 1600V
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A long straight vertical conductor carries a current of 8 A in the upward direction. What s
the magnitude of the resultant magnetic induction at a point in the horizonial plane at a
distance of 4 cm from the conductor towards South ?

(The horizontal component of earth’s magnetic induction = 4 = 10-* T)

a8 P8 YAy o Ko Gigs BH4S* B A D&ag s (RS %Sy0. o
£82 JBr0d8 wohIpos (&) [@6m wodo =4 % 10° T wowns 88
PErodd $00d, S8mo 39, oo S30D 4em Srdod® a3y Dodody 54
204 w08 |DEn HOSrmo Jod 2

(N 242 x10°%T (2) 42 =105 T

(3) 4x10°5T ) 2=107°T

117,

When two electrons enter into a magnetic field with different velocities, they deflect in
different circular paths, in such a way that the radius of onc path is double that of the other,
I« 107 ms™! is the velocity of the electron in smaller cirele of radius 2 = 10~ m. The
velocity of electron in the other circular path is ;

o8 wdhdpod E (Sos®DE Bods Doggbes 3% F&H Fores 9F20055 0.
v DI) Hersd dpost B33E30 TJodeow. o8 Do k) Fgargo
To&® Bgo Wwgy FeIgDd BUoR), wogys ddo 1 x 107 ms! wons B
O8) B)E TgrgIe 2% 1070 m wond F&E $)8 BEootd Jos el Fdo :

(1) 4 % 10" ms™! (2) 4 % 10° ms™!
(3) y/m? ms™ (4) 2 % 10° ms™!
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118. When a light of photons of energy 4-2 ¢V 1s incident on a metallic sphere of radius 10 cm
and work function 2-4 ¢V, photoelectrons are emitted. The number of photoelectrons liberated

before the emission is stopped, is (¢ = 1/6x107" C and = 9x10? N-m*/coulomb?) :

dne

48 42 ¢V o 508 P& Se, 10 cm Sgrgo, 24 cVe B (dFao do of
Sy Mo v830 WolSHd =od Jogihem agréiiferon. agrdo
onTH Su0d S8% dddothy $08 Jupede Dowmg (¢ = 16x1077 C

Sa0 o R 4 = 9% 0" N-m?icoulomb?) ;
dne,
() 625 < 10° 2) 125 = 10
A r2sx 0 -7 (4) 625 x 10"

119, Two deuterium nuclei each of mass 'm°, fuse together to form a Helium nucleus, releasing
an energy . I "¢’ is the veloeity of light, the mass of Helium nucleus formed will be :
L5 6,80 ‘m (53003 Ao Bods dogdboio ToBsen Bodlo Tod, of
rbobo Jodfom J8)E5Yds Dddethy 18 E wPd 8335 0o
do|dZo Wugy |8Sgor? (‘c’=5708 Fio) :
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E E
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120.. A zener diode voltage regulator operated in the range 120-180 V produces a constant supply
of 110 V and 250 mA to the load. If the maximum current is (0 be equally shared between
the load and zener, then the values of series resistance (Ry) and load resistance (R, ) are :

120-180 Vo arghe® 30 T of 438 g2 dahosso PO BEHo~ 110 Vois,
250 mAvS: 8 608 88 TWinoo. H0G Ddgdysadro. ol 6o
So0cdn #2380 Sy dHomr doEBBIod, (e 8'¢o (R 978 Do
(R ot doddehd Jwidw :

e

(1) R, =709; R, =280 Q (2R, =440 Q; R, = 140 0
(3) R, = 140 ; Ry = 440 Q () R_ =280 Rg =70 Q
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